
 20dB bandwidth 
802.11a 

TX chain : 0

Frequency :  5580MHz

Right edge = 5570.2 + 19.44 = 5589.64 < 5600MHz

Frequency :  5680MHz

Left edge = 5670.32 >5650 MHz
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 20dB bandwidth 
802.11a 

TX chain : 1

Frequency :  5580MHz

Right edge = 5570.22 + 19.37 = 5589.59 < 5600MHz

Frequency :  5680MHz

Left edge = 5670.28 >5650 MHz
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 20dB bandwidth 
802.11a 

TX chain : 2

Frequency :  5580MHz

Right edge = 5570.39 + 19.32 = 5589.71 < 5600MHz

Frequency :  5680MHz

Left edge = 5670.42 >5650 MHz
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 20dB bandwidth 
802.11an 20MHz 

TX chain : 0

Frequency :  5580MHz

Right edge = 5569.71 + 20.49 = 5590.2 < 5600MHz

Frequency :  5680MHz

Left edge = 5669.81 >5650 MHz
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 20dB bandwidth 
802.11an 20MHz 

TX chain : 1

Frequency :  5580MHz

Right edge = 5569.86 + 20.39 = 5590.25 < 5600MHz

Frequency :  5680MHz

Left edge = 5669.28 >5650 MHz
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 20dB bandwidth 
802.11an 20MHz 

TX chain : 2

Frequency :  5580MHz

Right edge = 5569.77 + 20.57 = 5590.34 < 5600MHz

Frequency :  5680MHz

Left edge = 5669.43 >5650 MHz
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 20dB bandwidth 
802.11an 40MHz 

TX chain : 0

Frequency :  5550MHz

Right edge = 5529.64 + 40.18 = 5569.82 < 5600MHz

P 7/9



 20dB bandwidth 
802.11an 40MHz 

TX chain : 1

Frequency :  5550MHz

Right edge = 5530.03 + 39.96 = 5569.99 < 5600MHz
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 20dB bandwidth 
802.11an 40MHz 

TX chain : 2

Frequency :  5550MHz

Right edge = 5529.6 + 40.56 = 5570.16 < 5600MHz
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